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= 6,784,170 5,805,420 978,750
+H2d 9,914,099 8,935,349 978,750
= 3,429,137 3,429,137 0
[Ea 6,484,962 5,506,212 978,750
H=sS2e (M= AIESEEA) 9,415,701 8,436,951 978,750
& 3,320,000 3,320,000 0
s 6,095,701 5,116,951 978,750
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201 Let=d] 1,864,059 1,860,309 3,750
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6,000,000 * 14 6,000 0 6,000
401 A2 HIRL 201 195,000 220,000 A25,000
01 Al&H| 195,000 220,000 225,000
OIS =S At 1,250,000 14024 175,000 200,000 225,000
= SFSHIAL 1,341,472 841,472 500,000
401 AlZHIZ SO 1,282,000 782,000 500,000
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2,500,000 x492A4 1,230,000 730,000 500,000
SHEMESIHD AL (HEALY) 4,105,000 3,605,000 500,000
= 2,520,000 2,520,000 0
o 1,585,000 1,085,000 500,000
401 A2 HIRL R 0HHI 4,105,000 3,605,000 500,000
== 2,520,000 2,520,000 0
= 1,585,000 1,085,000 500,000
01 AlZHI 4,100,000 3,600,000 500,000
OZAIXT &fote=2t2 HHIAY 500,000 0 500,000
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